fiﬂ A pericdic Renchion Fx)
. ’M"v\\‘ "I cd,\ be U-ieu]ed QS o
V) : \ v X " MOY- ”/ ed U\
ferms of Cos/8in basrs.

By =
X % x

NI

et ., () - )

(o)

The main (dea w Treating {:L’ CoS(- ), Sin(-) €

as +the basis vectors %9

@ Tre correct period 3 Fx)= Flx+L)
LS (EPA) L Sh )

7 On%%ona.o baosis S

L/.
‘LZ cos(_Z'Z_L?S) s,‘h(zm:x) dx =&
T2

L N=M=0
:{'L N=mM>0
O nEm

L/.
{ e



2
ZzL n=m>0

L/
f zsin(z’zr") sfn(_z-"‘—li"-—“) do(={ =~SBuYn

T2

Tt oo claar that { 1, CoS(EFX ) sih(ZEX)§
Qre orthqgonal. Bud, hot normaQized ...

@ Fowrier coefficients 3

— ortha but
TG T

MIE) == GMminy — S

Thus, the coefficient Can be epresed as

Now, returming to Founer Serien. The imer
procluct nothing but ‘1'/\1%«& e

2
2 2NTX
Q’\ = = [6/2- f(x)CDS(—Z—> dx
o
by = 'z.zf ‘[y £ Sin(Z2 ) dx
2




Symmetry Consicleration
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Conplom Fowuner Sened
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Larseval§ Theorem
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